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. BAIRE—EREF , SEHMIEINRN , HiHe %
KRERTLE=E=0 def sumOfN(n): |
MAEInHZR, Bk BB Rt EE theSum = 0

for i in range(1, n + 1):
BRERHEE theSum = theSum + 1
return theSum
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t4A=REDH
y BER_BER, ®0RKEEN? def foo(tom):

1252 BR b A A2 B 2 £b 5 AT & AR B AR : redb=1? ( )
s o ew . . or bill in range(1, tom + 1):
« B E A4 fred = fred + barney
o BT B R R A return fred
» LR "R | BEZEAE
RA R, TiEhEs print(foo(10))

 BiFEER , BiIEFERANBHEREZFBIFHE

» HiRSthEERREMTER REFENAERTAMILREX
EEHBARNALTR, IARS 5 ALRGHE, HRTHS
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static 0SStatus
SSLVerifySignedServerKeyExchange(SSLContext *ctx, bool isRsa, SSLBuffer signedPa

uint8_t *signature, UIntle signaturelLen)
) FERAT—MERBug

W N

f

A_»_ - B > AD b w‘ ¥
I‘E')%QSSLJE&%‘LEWEﬁEd— 8 if ((err = SSLHashSHAl.update(&hashCtx, &serverRandom)) != @)
9 goto fail;
. 10 if ((err = SSLHashSHAl.update(&hashCtx, &signedParams)) != @
2014.2.2214 i£1057.0.6 S PUsiERs ? TR o
a2 goto fail;
13 if ((err = SSLHashSHAl.final(&hashCtx, &hashout)) != @)
‘_,_ 14 goto fail; )
> *1%Ei_*alx*¥ 15 err = sslRawVerify(ctx,
16 ctx->peerPubKey,
17 dataToSign, /* plaintext */
18 dataToSignLen, /* plaintext length */
> ﬁﬁ FE *¥ 19 signature,
. 20 signaturelLen);
1 if () 21 if(err) {
2 return X; :: slePmr‘Log(::SSLDecodeSignEdSet‘ver‘KeyExchange: sslRawverify "
. . 23 returned %d\n", (int)err);
5 if ( s e e e e ) 24 goto fail;
4 return y; }
5 lf ( * o 0 0 00 ) 27 fail:
6 foo( ); 28 SSLFreeBuffer(&signedHashes);
. 29 SSLFreeBuffer(&hashCtx);
7 { return Z, 30 return err;
31 | 3
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>>> help(time.time)
Help on built-in function time in module time:

i-l-%;'ﬁﬂg;ﬁﬁ time(...)

time() —> floating point number

; aﬂzmygi-l-g[i%ﬂg ? Return the current time in seconds since the Epoch.

Fractions of a second may be present if the systeyg

 —HERZERAEIEREENFERAE
A9 4% 2 18 % B PV B 5 S4B AL 0 B LB vl

ERHMEAEMZARFARIRENE, MERLEER, RED 1970/1/1 60:00:00

) B IEEERRITEIE
BAVT ASAL P #AT RIFBATR K, RFAKGEITH A

» PythonffE—  timetRIR , RILBRENTEIRASEIRIE
BHEFIEAAERE AR AARE, BRTHAIEZTEHE  >>> 1mport time
>>> time.time()
1551764033.4839659

>>>
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import time

E{T A AN !
3

) BTRAIRSAGETREGN ¢ def sunofvz(n):
3
8

-

j start = time.time()

%ﬁ BT BIATH theSum = 0

4| .

S % K 1 5] — /N T, 20 for i in range(1, n + 1):

ég R theSum = theSum + i

% QiR itfe, AREBITHRE () 9 end = time.time()

~ 10 return theSum, end - start

i) P ;-, 11

) EXEROEEETIRES | t

% 1%/10,000 & /m 13 for i in range(5): L

. 14 rint("Sum is %d required %10.7f seconds"

FREATHT. 00074 15 S sun0fN2(10000)) 7E§

Sum is 50005000 required 0.0007980 seconds
Sum 1s 50005000 required 0.0007021 seconds
Sum 1is 50005000 required 0.0007031 seconds
Sum 1s 50005000 required 0.0007219 seconds
Sum 1is 50005000 required ©0.0007060 seconds
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YR 2 1M%100,000 ?
A AL RIBITH H] ¥ %) 10, 00069 1045
13 for i in range(5):
14 print("Sum is %d required %10.7f seconds" % sumO0fN2(100000))

Sum is 5000050000 required 0.0078530 seconds
Sum is 5000050000 required ©0.0078511 seconds
Sum is 5000050000 required ©0.0087960 seconds
Sum is 5000050000 required 0.0082700 seconds
Sum is 5000050000 required 0.0077040 seconds
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13 for i in range(5).

14 print("Sum is %d required %10.7f seconds" % sum0fN2(1000000))
Sum is 500000500000 required 0.0817859 seconds
Sum is 500000500000 required 0.0781529 seconds
Sum is 500000500000 required 0.0803380 seconds

b Sum is 500000500000 required 0.0783160 seconds

TR S IR A2019 gum is 500000500000 required ©.0776238 seconds
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L HRARHAABITERRE 17 def sumOfN3(n): F

O REFEHOSEEMEGEE e (f i okt

2 10,000; 100,000; 1,000,000 19 thesum = (n * (n + /

= . 20 end = time.time()

~ 10,000,000; 190,000,000 21 return theSum, end - start =

A

< - .

N ) BEXINAR _
3 ok &4 35 47 nd D : 3 4 Sum is 50005000 required 0.0000010 seconds

5« A Ik A BATI M kbﬁﬁ%ﬁ%ﬂJ&? Sum 1is 5000050000 required 0.0000000 seconds —
AT E S B fZnt kA %X FE (AT Sum is 500000500000 required ©0.0000010 seconds z
ﬂﬁ&%{%ﬁi@‘lﬁﬂé%) Sum is 50000005000000 required 0.0000000 seconds

Sum is 5000000050000000 required 0.0000169 seconds
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KOFETi% (Big-0)
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T & — 430 A0 R R AR KA A B AT AR R

 IEIEUIER—1 S 1ERNEE
—45BALENRHEAT (REX) dHHF (E2) GHANELTR
FaMEAAFZTEERE, RTEHEHETRAXNENLENZIN, TE2RXZ=FEHRE
G A RARIE G, RMIBRIAL TEERAEGNER, AREHRLE,

» SFIASUMOfNII(EIEREE 54 def sumOfN(n):
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STF “CREAAAL” n 32 =®» theSum = 0
BALE 6] $ B T(n)=1+n 33 =®» for i in range(1l, n + 1):
34 = theSum = theSum + 1

35 return theSum
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1 : T(n)=1+n
YnE AN, FHRIAZRLERFPRERRBARAELE
FTAY LA L471, HREntEAH £ &3y, BITHBEHZLEZLA0(n)

y 2 : T(nN)=5n2+27n+1005
Enfk B, F31005H % 2 HAE R

B EnBRAKR, n?ARAARRRE R, H € HIAI LR 697k U] A RAR]
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T(n)=3+3n2+2n+1=3n%+2n+4

38 {a=>5
y (URBRSMIAN? , KIEFREREN 23 . b = (150
. c =19
y HEHAO(n?) 41 / for i in range(n): ,
. . . 42 | for j in range(n)i
43 ! X =1 % 1 ! e
44 y =] % ] Z
| 45 o . z=1*x73 ’"
46 ;""'ﬁiF"I'{"':i.'r'l""f'éfﬁij'é'(ﬁ') """"""
| 47 w=ax Kk + 45 ;
48 ‘o Nz hxb
49 i+ d=33
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f(n) = ©(g(n)) =HBEMEHf(n) = O(g(n))Bf(n) = Qg(n))
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H HAlist.sort()

y BRRHPLIEENMNAESHCBAILLE: | im1THAEE%/30(n?)
y EREAEREIERI0(n)

def minl(1lst):
def min2(1st):
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def anagramSolutionl(sl, s2):
alist = list(s2)
posl = 0 1 BN
stillOK = True (B IEYE =1
while posl < len(sl) and stillOK:

S4ls2Z53E

co~NOOULTE WN R

pos2 = 0
found = False 1ES2H7FRZENRIEL
while pos2 < len(alist) and not found:

9 if s1l[posl] == alist[pos2]:

10 found = True

11 else:

12 pos2 = pos2 + 1

13 if found: m
14 alist[pos2] = None

16 stillOK = False

17 posl = posl + 1
18 return stillOK

19

20

21 print(anagramSolutionl('abcd', 'dcba'))
R KR FHIR G = WA F F /52019
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1 1
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%52 HERFREL

def anagramSolution2(sl, s2):

?‘ 2 alistl = list(s1)

7 3 alist2 = list(s2)

R 4 .

§ 5 alistl.sort() 72 BUERHEF

§§ 6 alist2.sort()

~ 7 pos = 0

S 8 matches = True m

§- 9 while pos < len(sl) and matches: "

S 10 if alistl[pos] == alist2[pos]: —
11 pos = pos + 1 =
12 else: ,"
13 matches = False
14 return matches
15
16
17 print(anagramSolution2('abcde’, 'edcha'))
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» HELZE , FRZERBF—NMEN | RSAITnIX , HELKNIZEO(n)
»  (BIEIABIERIFAA A sortH A2 T UHRY

» MREATRENET , SRIBHIFREZRBAARNERAE , BiET7HE
HEREAZEO(n?)EKFEO(n log n) , KBFEHRIO(n)

MU RZPREREREBNLCrREHIFELS R
 PRIZMNSITHRSERMEFTHEFIIERHEZERO(n log n)
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def anagramSolution4(sl, s2):
cl = [0] x 26
c2 = [0] *x 26
for i in range(len(sl)):

pos = ord(s1[i]) - ord('a")

cl[pos] = cllpos] + 1
for i in range(len(s2)):

pos = ord(s2[i]) - ord('a")

c2[pos] = c2[pos] + 1
j=20
stillOK = True
while j < 26 and stillOK:
if cl[j] == c2[j]:
ji=1.+1
else:
stillOK = False
return stillOK

print(anagramSolution4('apple’

T KFHIL G = MALF F 2/ T5R3/2019
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& , BN EAAIE R IEREERURY.

 (BSIEENRE | FREKBMTAMIED260NTHERIIR | REFFFITE

, RN R EREESAIF IR
0 TR TF 26 FEM AT, ALEFERIINERATNE, 2 REEERFHE
WAL Qe P LAHLFRRFH) , HARSHHFAE.
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A. O(n) B. 0(n*2) C. O0(log n) D. 0(n"3)

test = ©
(2]-: for i in range(n):
for j in range(n):
test = test + 1 * j

\ QZ: test = 0

for i in range(n):
test = test + 1
for j in range(n):
test = test - 1

? v
B
]
g
RS
=
s
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~

i=n
y Q3 : whilei>0
k + 2
i=1//2
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»  FERITIE TFPythonFHREZESEE L ZHE(ERIXKOZELN
7| % ListAeF#Dictionary
X R A EZGPythonHKE XA, EHRAEALSAREAZFRKIFELEN
BB RERAZLEHEENESITHBEK R
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list  JEGEEEE 25*22:3 b ali]=v Sl | SIS | R
=K : remove* a[i:j] count(v) sort
insert
: N LS _ _ b[k] has_key
dict ;:FU{E__I( b[k]=v pop b[k]=v copy 7C update
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B BIFIMR(E (interface ) BISEMBZRRS | MAEFEREGER]

FRECIR G % ?

SBHAEMRE | L REREEMEERRY | HEAKXE BRSEE
80/20& N : 80%89 2 ft HAE I F R A 20%

A RE—LE = BAIListig(E

e AE . ILESIBUEFIEE (v= alil], alil=v)

BT 7R GRITF4FE, IR NREFRITHEASIZRDEX, ¥HAH0(1)

FS—1EIFIGEK |, JLliEiFappend()F1_add_ ()
1st.append(v), HATEEIZ0(1)

1st= 1st+ [v], #ATEHEAZO0(n+k), HFPkEZEHEMEF]|E KK
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AFRERBIN B LSRG E

» B—MRERBENEETIR (+) BVERK

» PAEEMappend()EiERRINTT=ER

y IBEERIFRIESI (List Comprehension )di‘é{fgstl():

) ERlERErangeREIEAERYI= 1{0: :E]in range (1000):
1 =1+ [i]

b KSR

5oz A At 5212/ TR K./2019

FIRHEST(

def test2():
1 =[]
for i in range(1000):
1.append(i)

def test3():
1l =1[i for 1 in range(1000)]

def test4():
1 = list(range(1000))

~



(EHEtimeitiERY H/ELTAYS
y WFENRHGERDBINITEIE , timeitiRIIEH T —HE—RNEITIHIRT
LA REEBFaS S

y  timeititBIRY(ERSGE
“‘é‘%ﬁﬂ%*/\Timeriﬂ'% FTERANEEK, F—AREZREEBEFNIEY, FARATE

\J

R
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SEIBATHR B A F BIBAIT R “RRiEe”
ﬁi)éiﬁﬁ]ii/)\ﬁ%é@timeitﬁ%, AP TURZREBITZ VR, THEZBEBEERE AL A
¥ 45 84 B ) from timeit import Timer

tl= Timer("test1()", "from __main__ import testl")
print "concat %f seconds\n" % tl.timeit(number= 1000)

Z

t2= Timer("test2()", "from __main__ import test2")
print "append %f seconds\n" % t2.timeit(number= 1000)

t3= Timer("test3()", "from __main__ import test3")
print "comprehension %f seconds\n" % t3.timeit(number= 1000)

AT K 3R b 52 WA S 1/ T K /2019 t4= Timer("test4()", "from __main__ import test4")
print "list range %f seconds\n" % t4.timeit(number= 1000)
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 BliIBR , AWMBE

1Z1TRIEIZERIRA

7%k %% (concat) ®IB, List range®tk, 2 E 48 £ 120042,
append®&&tbconcattki® %
%5k, KAVEF TR IEF XRE Aappend L oy 4%-T

SR, MR(FHDH |

8

Ao 2, 8 P 74K 4 B ) 2 3 3

KRR, ERREER T REFIRIE(ERIFER , MiZ

YRR EE FRYATEITEA. >>>

T A A 2 R R
A A B A B B T

3”4 ‘J’ k—j‘i&ik %

AR 52 52 1%/ T4 3%,/2019

concat 1.889487 seconds
append 0.091561 seconds
comprehension 0.038418 seconds

list range 0.009710 seconds
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 HAIESEIpopiXMEE
pop()AF| & KEAHRTH, 0(1)

pop (1) A3k ¥ HREBRTE, 0(n)

[RE{EFPythonFmixiERI=CIN G %
IFHRBRAKNIE, ZREBRAFTET
B TER XA B F —ik
EANFARRE BRI

1B G &FEPH RN E D XAEING X588
PRIED| & % 7| BUE A= B A 89 B AE AR bR,
* 2]0(1)

XOH A —F3tF ARAEFATE B RAEM
WEHTE
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Operation
index []
index assignment
append
POp()

pop(i)
insert(i,item)
del operator
iteration
contains (in)
get slice [xy]
del slice

set slice
reverse
concatenate
sort

multiply

Big-O Efficiency
o(1)
o(1)
o(1)
O(1)
O(n)
O(n)
)
O(n)
O(n)
O(k)
O(n)
O(n+k)
O(n)
O(k)
O(n log n)

O(nk)
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list.popAYitAdiztic
y ATIERPAIKOHE=SR , HiJIEMmHHER TaIpopiR{EREErRITRIXILL
, {EXIE—PAKdlist , SRERpop()flpop(0)

y FXARBERDBlistifitAgztiE | FMJHIEEHNSRE
pop()#yht ] REElist KN Z 4k, pop(@)&yRtE & listE RmE K

-

g

s

=
S e >>> x = list(range(2000000))
§  BRHIIEXLE >>> popzero.timeit(number=1000)
N stFKE28F Ik, #iT1000:1 0.7688910461739789 —
pop () it 1] 2 0. 00074 >>> x = list(range(2000000)) g
‘ >>> popend.timeit(number=1000)
pop ()& 17 % 0. 84 0.0007347123802041722
A8 £ 10004%

import timeilt
popzero = timeit.Timer("x.pop(©)", "from _main__ import x")
popend = timeit.Timer("x.pop()", "from main__ import x")

bR KFHIR G = M AL 5 12/ T5R%K/2019



list.pophdithdiztis
BB TR AN RN ERIIGKES

import timeit

popzero = timeit.Timer("x.pop(©)", "from _main__ import x")

popend = timeit.Timer("x.pop()", "from main__ import x")

print "pop(@)  pop()” 55

for 1 in range(1000000,100000001,1000000) : 0op(8)  pop()
x = list(range(i))

0.23149, 0.00078
pt = popend.timeit(number=1000) 0.68661, 0.00020
x = list(range(i)) 1.43575, 0.00045 e
pz = popzero.timeit(number=1000) 2.00506, 0.00027 ::!
print "%15.5f, %15.5f" %(pz,pt) 2.71711, 0.00032 ’n
3.32652, 0.00030
4.03600, 0.00032
4.56179, 0.00026
5.17211, 0.00034
5.75793, 0.00025
6.28499, 0.00028
6.63129, 0.00033
7 1CT7MNA"N N NNNN7
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list.popRYitAdizt 3
BRI EEE R ER | PILIEHIgKiES
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Dictionary#iE4Ets
 FHEHIRARE , SELMRIEXER ( key ) RILFIZFEIR , mFlRER:

\

?% (B (index ) RiFIEIEIR
% . EEMGERSN BTN RRZNX
;Q » e AAEEget item#lif{Eset itemiE(E , HIEEEHO(1)
i ) BAEERMERANTRPRSEERXEG (key) , Ri\MEEEE |
= O (1) operation Big-O Efficiency z
| RESRMERTRRSH ] = ”
set/get/contains -> 0(n) ge_[em O;j
g @ i%iii# @J 3’: ;RL é{J H“j-,f‘%/ﬁ\é’\*ﬁ' delete item o(1)
contains (in) O(1)

bR K FHIR G = A S F R/ R R /2019 iteration O(n)



List¥DictionaryfJiniE{EXILL

TSR RISEList P E—1ME , LARDictionaryRf@Z=E—1ME
AOLTASRILL
AR — NS ESEAYLIstI— A2 E L X EDKeyWDictionary
R AR RAAL, RAR—ANEMESF in KA.
import timeit
import random

-

0
S
g
e
%
S
S
Q
J

for i in range(10000,1000001,20000):

t = timeit.Timer("random.randrange(%d) in x"%i,
"from _ _main__ import random,x")

x = list(range(i))
lst _time = t.timeit(number=1000)
X = {j:None for j in range(i)}
d time = t.timeit(number=1000)
print("%d,%10.3f,%10.3f" % (i, lst time, d_time))

~
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List¥DictionaryfJiniE{EXILL

N

N

PythonELRIEZSZ=E RS :

https://wiki.python.org/moin/TimeComplexity

N

List

R KFHIR G = WAL 5 12/ TR /2019

a WFHPRITIIR S FHMMEXNTEX , EFEH
mZIRAVMATRIEINIBEE S RAFRIN KT £ L HPython

10000,
30000,

50000,

70000,

90000,

110000,
130000,
150000,
170000,
190000,
210000,
230000,
250000,
270000,
290000,
310000,

0.062,
9.189,
9.329,
0.440,
9.582,

NRPRPRRPRRPRPRPOOO®

.710,
.840,
.951,
.077,
.227,
.377,
.499,
.618,
.738,
.892,
.055,

0.001
0.001
0.001
0.001
0.001
.001
.001
.001
.001
.001
.001
.001
.001
.001
.001
.001

OO OO OO

~



fEE{EIV2-3

| QUTEMATUSHRMERZOL)? ) Q5 : FEMAMFIIREROQ)?

R a) list.pop(@) a) 'x' in mydict

% b) list.pop() b) del mydict['x']

;;; c) list.append() c) mydict['x'] == 10

S« d) list[10] d) mydict['x']= mydict['x']+ 1
e) LAL#ESR 0(1) e) LAL#SR 0(1)

bR KFHIR G = M AL 5 12/ 5% /2019
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Python/©EiR : 455% 5%

» PythonBRZAERNER. BREFIEERS . L REARRANSEAH
print a, TUAEARBARETIRARAEAABA T SHFHFEH X

del a, TTuA4i%st$a; del 1st[2], TURAMKR R L EINTE
len(a), X%, TARFREAT A STHE NN
int(a),float(a), ##HZEHK. Fae. FHEAHAERKRF K
a+b, TURBEE KA, FEHf. FHEWHERE, 7 R0ERE
a*b, TRBLEEHK KM, FEKRR, FHELE. RN ZL

y XEEA), REFIEER | AR RFRERPBEENRIZE
XN FEE G (P ARES, SAFAPFPFARIWE, &2 MH2EFR?
tede KA E X T —A~%Color, #print—A-Colorst 4 HMNH A ? H/A-Colorst oy haik
, BRELHK?

-

MRS o
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s
>
S
S

~

bR KFHIR G = M AL 5 12/ 5% /2019



Python/MilliR : 455K %%

. PythoniBfft 7T —LLisirrssE . RibEE NI thALINR HARA BB, &

= class Color(object):
%&*ﬂ?gﬁfﬁﬁ def _init  (self, r, g, b):
self.value= (r, g, b)
it (r, g, b)== (255,0,0):
self.name= "red”

-

-

td

MRT i

-~/

3

— >>> a= CO].OI"‘(255, 0, 0) elif (r., g, b)== (e, 255, e):
S >>> b= Color(@, 255, 0) self.name= "green"
S >>> a elif (r, g, b)== (255, 255, 0):
E? red self.name= "yellow"
S >>> b else: —
green self.name= "N/A" z
>>> a+h (=l |- _add_ (self, b): r
yellow return Color(self.value[@]+ b.value[0], \
>>> c= Color(128, @, 0) self.value[1]+ b.value[1], \
>>> ¢ self.value[2]+ b.value[2])
COlor‘(:!-ZSJeJe) def _str‘_(sel'F) .
>>> print a, b, ¢ 4= if self.name!= "N/A":
red green Color(128,0,0) return self.name
>>> str(c) else:
'‘Color(128,0,0)" return "Color(%d,%d,%d)" % self.value

LFRFREEE]SSS repr__= __ str




Python/villiR : fRIR

y  PythonfEfZIMES R 29 . BBRSEMA Internet#EXE (email% %)

FIINGERIERESEE | #7/amodulefRiR , Python Interneti@ kil 4 (HTTP,SMTP,POP
SEMERES dibiataabats Nt B

= 7 % 4 19 fServer)

A SHARIBRE (FWM. B

AR I 5 5% 5 3 e *

A5 B 5 TRITAR S

KB 2L & 75 Fl P & Tk ____
BB 5 A A FEIA =
SR XIMEE (csv. ini%) X TR "
e S KL 72 BT 5 KA

R R RRETR I PythoniZ 4T 2R 5 R 9

s L Python K 474z A7

XML 3L B BLARHAE 7 SiAn £ Rk

bR KFHIR G = M AL 5 12/ 5% /2019



Python/VAlliR : fRIR

, ERTXLERIINEE , REEERimportiBASAER (ELUGESER
BJinclude ) > irvort shelve

- d = shelve.open(filename) # open -- file may get suffix added by low-level
# library

store data at key (overwrites old data if

using an existing key)

retrieve a COPY of data at key (raise KeyError if no

such key)

delete data stored at key (raises KeyError

if no such key)

flag = d.has_key(key) # true if the key exists

klist = d.keys() # a list of all existing keys (slow!)

d[key] = data

data = d[key]

del d[key]

H H H HHH

?v
5
]
g
RS
=
s
S
Q
N

~

# having opened d without writeback=True, you need to code carefully:

temp = d[ "xx'] # extracts the copy
temp.append(5) # mutates the copy
dl "xx"] = temp # stores the copy right back, to persist it

# or, d=shelve.open(filename,writeback=True) would let you just code
# d['xx'].append(5) and have it work as expected, BUT it would also
# consume more memory and make the d.close() operation slower.

T K SRR 7 A I/ /2019 d.close() # close it



Python/villiR : fRIR
, importiBIR T SAER , EHEFSIATHNESFER

import time

-

time.time()

» HFERES|IASANMERAIIEE | BRERERIE TR SRS

import timeit

t= timeit.Timer.timeit(....)

» BJEABfrom ... import ... REIEBERRELEE 2 SA SRR

from timeit import Timer

R
S
g
e
%
S
S
Q
J

Z

t= Timer(....)
TRZAETF R FARLNFLERNNFTREINE, EHIIRBATFTR

bR KFHIR G = M AL 5 12/ 5% /2019
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Python/MViliR : TRESE]
»  python IS FIRAI LIS ERESHLINRREE

def func(a, b= 0, c= "abc")
func(2)
func(2, 4)

func(2, 4, "xyz")
func(2, c= "xyz"): FRIGHERRKASEE, §E2HKAEBHEHN LA

AT K F R G A5 F 2/ T5K/2019
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Python/Villig : IDLEAY(SFS

y IDLEQ A3z EZHShell , Fl5REEEEEditor
,  FBYRiEEERmiEpythoniE3{4 , BARuUn->Run Modulei=1T

 BITHERESBRERELIRShellBHE , FTILATEShel | B EAEEEEN.
Lo SFIIBEITERE

-

MRS o

]|

&

s
>
S
S

Z
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